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‘ 1.HHAg o]l 136,719 117,947 18,772
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’ 2. WS B 37,670 24,120 13,550
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1 ehin g 3 e A A B (7] %) 37,670 24,120 13,550 (e 2 v ohh g S A 2,340,000
2 340 0009 X 132=
A9 =8 2 ThAk 3 20 EE=A
( 4 2T)°]’ "] 1:! ‘% -——ilu X]du 2,220,000
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1. uSH SEAAY = 1,931,549| 1,484,117| 447,432
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6,296,000 * 11 =
AYA A JS-31T 2 9] o] AH
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A = S A HA} L2 AE 29
(BHEH2F)AGAYTAL Z2AE A 3,000,000
3,000,000 * 11 =
(BHEH_2F) G A e A TZAE
1,000,000
H] : 1,000,000 = 13 =
A) S} A TRAE 99
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+ = B34 | 714 . .
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[ o o S AFel | o] Aol H] 57} NE712(9) H] a1
(&5 A7FE Al & = =
A g =) Sl EL 9ol
(o uﬁ_z—l‘)—u—q’%xﬂﬂ’ﬁ? RURRYG] ] 9’0001000
9,000,0009) * 1ul =
(BEH2F)ssdn @ 25E5E0d 22 3,000,000
a3 ADAS] ¢ 3,000,000 = 13 =
A LA E AR 7)ok el
( ZJ 2‘!‘)2‘]]30 ]EE 07]\_%1%1\:1 67020y000
6,020,0009 * 13 =
] v} Al =] &k 1l
(AEA_25)2020 FA A w 2,000,000
2,000,000 * 11 =
A2 =) ) 3] &-odn Ao
(R 2F)HA w3 9u] A 500,000
500,0009] * 13l =
(BEH 2F)TAF F8HES sty &9 1,020,000
10200001 ¥ 13 =
,q M FZ2~0] H. L o
(BEA 23 AESFY APEF 1 9,915,0009 * 9,915,000
l_u_ =
2] AEWA] L SZFEHA A
(HEH 25T uA 2 FEEX ALY 21,920,000
21,920,0009) * 13 =
A 2] A AP (L
3. FAu A AT 246,100 213,071 33,029 (j A 25) w4 2N () + 4,800,008 * 1 4,800,000
o=
2 Z=)Z A AP (=
(A 25)F2748(%) 28,229,000 98.229.000
ol =
A = o ) Mo ey S 227}
4 st g s A 9 760 0 760 (o° 1A 23RS A2 760,000 760,000
o« 13l =
A1 21 =] J‘_Egi—ml L
5. 5B E-guAdF 20,540 4,000 16,540 A )ETERA =l 16,540,000
16 540,000%1 * 13 =
6. 72| FAH A L= 27,930 27,930 0
3.7]ete] 44 1,000 0 1,000
1.V EFEEol d4d] 1,000 0 1,000
1.718239=2 1,000 0 1,000
1.3 AL F 1,000 0 1,000 (A EA_23)E5x71o] : 1,000,0004 X 1ul= 1,000,000
2. A< 332,615 482,231| -149,616
1.8 R RS0 321,477| 471,153 -149,676
1.2 321,477 471,153| -149,676
1.527H] 40,373 53,369| -12,996
1,524 27,377 27,377 0
2. Frg2H] 12,996 25,992 -12,996 ¢-H-TiF : -12,996,0009 X 13]= -12,996,000
2.3} %8k gk ) 152,720 312,746| -160,026
1. 93} 5 8k w35 152,720 312,746 -160,026|%=r°13]3} : -7,050,000%) X 138]= -7,050,000
FArekal 1 -8,850,0009 < 13]= -8,850,000
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ARTE : F728 (s} - A
+ = A4 | 219 _ o
alalglz] areqme | At | dua S HE712(D) ¥l
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Z3 1 -6,750,0009) < 13]= -6,750,000
Hho] &7 1 =7,050,000¢) < 13]= -7,050,000
S-ZFAY 1 -6,750,0009 X 13]= -6,750,000
WSl 0 -6,300,0009 X 13]= -6,300,000
2} 1 =7,050,0009] X 13]= -7.,050,000
EFL 1 —6,300,0009 X 13]= -6,300,000
FgAuEEME=E ¢ -7,050,0009 X 13]= -7,050,000
71257 : -11,850,000¢ < 13]= -11,850,000
v 0 -7,050,0009) < 13]= -7,050,000
AFa B E848) 0 ~7,050,0009 X 13]= -7,050,000
29-a4 1 =7,050,0009 X 13]= -7,050,000
B  =7,200,0009 X 13]= =7,200,000
Fol~Egdy : -8,400,0009 X 138]= -8,400,000
A Q574 E] 0 -11,214,0009 X 13]= -11,214,000
FRALAF LT EAS 0 -14,112,0009 X 13]= -14,112,000
FESFLE] g1 1 -2,000,0009 < 15]= -2,000,000
3. qAETEH 34,028 41,708 -7,680
1.9 A sk5u| 34,028 41,708  -7,680 | %X LAFEE 1 7,680,000 X 13]= -7,680,000
4.4 209 A EE | 25,250 25,250 0
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5. &9 4WH 4,500 7,700 -3,200
1.9 4,500 7,700 -3,200 | A EFARTY 1 -3,200,0009 X 13]= -3,200,000
6. 71 Eb ) AT 0 3,980 3,980
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3.71e 8 A 8% 49) 4,618 4,558 60
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2. 7184 5] 1,618 1,558 60

1.7/ 4 8554 1,618 1,558 60| A A= &R ¢ 60,0009 < 13]= 60,000
3.71Er Y 74,655 74,614 41
1L.AdZo| g 74,655 74,614 41
1.eAAY A= 18,642 18,642 0
1.AAIY A= 18,642 18,642 0
1.eAAIY A= 18,642 18,642 0
2. 732 A QAL 56,013| 55,972 41
1.4 A A AHE- 2ol 56,013 55,972 41
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49w | An Avgs  gagqus | S Rt g
1.AAAY 48 119,497 118,367 1,130
1.7]8F aA PR 24,030 23,400 630
1A dgA A 630 0 630
1. [Z]adA Az H] 630 0 630
‘1.717@1]&%%211:1] ’ 630 0 630| A1 72 217H] 1 630,000 X 1= 630,000
2. GALFF 23,400 23,400 0
1 [Z]uddn | 23,400 23,400 0
1ot 9 ’ 23,400 23,400 0
2. w2 Hx gl og7ts) 95,467 94,967 500
LaAgds 3,100 2,600 500
L[z]1AFds | 500 0 500
1,914 8] 500 0 500 ffng] AHEFAHY A5 ¢ 50,000 500,000
2. [=]AEds 2,600 2,600 0
1. Yuksegn) 2,600 2,600 0
2. 12 57 92,367 92,367 0
1. [Z]n S F2 DA 57044 92,367 92,367 0
1371 AR A R1 A m 83,267 83,267 0
2.5+ 5 521 9,100 9,100 0
2. A EA /& A2} S 4 536,247 455,842 80,405
1.54 #e 461,338| 403,644| 57,694
1.8ug2e9g 461,338| 403,644| 57,694
1 [Z]$FE20 12,996 25,992  -12,996
1.9frd= 12,996 25,992  -12,996| =410l -12,996,0009 X 13]= -12,996,000
2. [=]1529 v (A 11,760 11,760 0
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3. A5G| 1,000 1,000 0
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6. [Z]ZeA AN (F4) 8,904 2,406 6,498
157 Al k4 A 91 7w 7,952 1,856 6,096 gf}ﬁ_ﬁ)ﬂ%% F 1,914, 1501741 1,915,000
g?@_ﬁr)ﬂ%a 2,116,000 #19 #1 2.116.000
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CRA2FIFIF + 50,00090+19+19 50,000
2. 27 A A A 952 550 yop| (BHA2TIAZEA + 70,0008+178+14 70,000
(fé%‘%j_z%)ﬁ%iﬁg 1 72,0009 1714 72.000
(jé%ﬁj#)%‘ﬂ?i% 1 89,0009 %191 89.000
(jé%‘%i_z%)%fﬂﬁ% 2 90,0009 #1914 90,000
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(fé%‘%i_z%)i%ifa © 26,0009 1814 96000
(jé%‘ﬁ_%)txﬂi%.ﬂ D 14,0009 %191 14,000
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8. [ 1FAAETYE () 24,781 24,781 0
153282 A 21 24,781 24,781 0
9. [F 152 n () 4,730 4,730 0
1. gHkE8n) 4,730 4,730 0
10. [F1z=e A FARIAH (7)) 6,196 6,196 0
1571 AR A ARl m 6,196 6,196 0
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AE71 ()
49w | An Avgs  gagqus | S Rt g
2. [=]1 8 AA 7,460 7,460 0
1.3 B2 ) 7,460 7,460 0
3. [Z]1RAAEY 15,760 10,760 5,000
1. k-89 7,660 2,660 5,000| #-d W I EFT9] 1 500,000 X 103]= 5,000,000
2. 2953 1,400 1,400 0
3.994] 100 100 0
4. 38893 u| 1,000 1,000 0
5.3 A FA]H] 2,500 2,500 0
6. 1] 41 3,100 3,100 0
4. [ 210 ALARAA 228 228 0
1. 02 5] H) 228 228 0
5. [2]HIEFAAEH) 2,325 2,325 0
1. dHkE8n) 2,325 2,325 0
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2. (218745 1,600 1,600 0
1. g RkE8H 1,600 1,600 0
3. (=] 7,311 900 6,411
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1. 232544 41,679 37,260 4,419
L[z]gEEnE 1 14,100 14,100 0
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1. 0599 518 518 0
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2. 5871 A AP AL 3,025 3,025 0
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4 A F 16,415 6,500 9,915
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ggﬁ;ﬂzﬁ)s@e WEE 01,0009 <71 426,000
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